World Foodland Map PEOPU AT()

World Map Based on Agricultural Capability

Ver1.0

)

v

In the map above, a country's size is based on the agricultural productivity of its entire land mass relative to
that of the USA. All countries shrink or expand depending on their Size Factor*.

Resources not Size

The map of the world changes dramatically when the size of
the countries is based on agricultural potential not actual
geographic size. It is obvious that space does not equal
resources. In the map above, we have maintained the outline of
the various countries but have based their sizes on the Size
Factor*. The U.S.A. was used as the reference and kept the
same size while all other countries were varied accordingly.

Why did Canada shrink so much? Despite being the
second largest country in the world, only 7% of Canada's land is
suitable for agriculture. In addition, Canada's agricultural lands
are only about half as productive as those of the U.S. and about
1/3 as productive as those of Britain or France due to our
harsher climate and poorer soil.

When looking at the issue of food production and the
population that can be sustained, Canada's size is misleading.
Of Canada's food producing regions, only the Prairies is a net
food exporter. This is the area considered to be the most
sensitive to climate change. Meanwhile, in the east, our highest
quality foodland is being taken out of production by urban
expansion and poor soil conservation measures.

The Soviet Union, Africa, Canada and Australia reduce
significantly from their geographic sizes while Greenland almost
disappears. Since Canada has only 10% of the agricultural
potential of the U.S., Canada's size was reduced by 90%. The
United Kingdom was increased in size by 137%, India by 98% and
Europe by approximately 191%. Not all countries were resized
individually. Latin America, Africa and Europe were resized as
continents to maintain the legibility of the map.

Relative to U.S.A.

Agricultural
Productivity

Total Food  for Country
Output as a Whole
(Size Factor)

Canada 0.10 0.10
United Kingdom 0.06 2.37
France 0.22 3.64
China 1.13 1.11
USSR 0.75 0.31
Africa e 0.40
Asia -_— 1.45
Europe - 2.91
South America - 0.50
United States 1.00 1.00

* Size Factor - The productivity of the entire country. The higher -
the number, the more productive the land.

1.00 means that the country produces the same amount of food
on a given amount of land as does the U.S. and therefore the
country will not change from its actual geographic size.

Greater than 1.00 indicates more output per acre and a larger size
and lower than 1.00 indicates lower output and a correspondingly
reduced size.

Total Food = Total food produced
Output (not consumption)
compared to U.S. output




To develop awareness of the strong linkages between human numbers, human activity and the
environment and human well-being.

To make it clear that Canada is no longer an untapped frontier capable of accomodating a larger
population but a nation with a declining environment that must now work toward long term
Zero Population Growth | solutions for its environmental and economic problems.

of Canada Inc.,
P.O. Box 113, Population and environmental problems must be dealt with in the nations in which they occur.
Ajax, Ontario L1S 3C5
1-416-487-2619 Canada contributes disproportionately to global environmental degradation. Canadians must reduce

their consumption of natural resources as rapidly as possible to levels that can be sustained by our
diminishing environment.

Please help us to establish a stable population and an environment strategy for Canada. Annual Membership is $20.00.




